H & 0l & AHS B Ml A

SA JIEZAE
33 FFSE Jl= & =F
el JIE 2 P28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JIEZ A 2,351,939 3,624,499 1,272,560
= 30,000
Al 34,187
- 2,287,752
TIEE JIE € xF 200,771 411,003 A210,232
Al 19,187
- 181,584
J1E & g XE 75,577 287,214 A211,637
-8 gFAE 8 ¥ 93zgs Nd 75,577 287,214 ~211,637
201 fet=23y| 62,617 73,534 /10,917
01 AtR2te|HI 62,617 73,534 10,917
OZFQADHE T HE
9,775,500 *90% 8,798
OF&AE=Z 493,500 x90% 445
OPH =2 E2ENS M
15,000,000 15,000
O78s8=2= 5,985,000 *90% 5,387
OF8E2 JIE3 2,850,000 *90% 2,565
OHINIZANZE 3,486,000 *90% 3,138
O YAl &2t 4,900, 000& *90% 4,410
OZetZel”d &Y 5,750, 0002 *90% 5,175
OXEYRE =& 17,69
ARESE 12,825,000 *90% 11,543
slHE+3 6,840,000& 90 6,156
203 HF=H| 12,960 13,680 AT20
03 A= PR FAI| 12,960 13,680 AT20
OFEAHE R =X 7,200,000 %90% 6,480
OJI8x8eds =8 3,600,000 *90% 3,240
ou2zggy: =a 1,600,000 *90% 1,440
OAIZIZE S =X 2,000,000 *90% 1,800
gl 2 adae 79,859 79,949 A0
Al =5 € 22 2,729 2,819 A0
201 er2 3| 1,829 1,869 A0
01 AtR2telHl 1,829 1,869 A0
OFNUECTHZ MHIA 0/
153,000 x 122 +80f% 1,469
OBEEAMA Y 200,000 *90% 180
OZdlnza2lgl 22Xtz Iy
200,000 *90% 180
203 AHR=H] 900 950 250
03 A= LR F&IH| 900 950 A50
Ogeg: = 1,000, 0002 *90% 900
DEAR 2l 77,130 77,130 0




SA JIEZAE
33 FFSE Jl= € =F
ol EHl R A2l (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 54,030 54,030
01 At2teltl 54,030 54,030
Oaxs&zxe=3 3,300,000 82 26,400
OsaAtds 3,300,000 x6A4 19,800
Oxd&EEE 78,0003 *421 312
OASUXI 409,500 x4 1,638
OSSN 2 220,00021%2% 122 5,280
ORSYBLE BSA 28
50,0008 x1&x 122 600
303 Zal= 1,450 1,450
01 2= 1,450 1,450
Os2sfd Zid=s 100,000& 1024 1,000
OsFesHl 30,0002 1521 450
305 Hia =S 21,650 21,650
01 HHAI2S 21,650 21,650
OBIAAR 2 3HBHA 2 (T4 2)
5,000,000& 124 5,000
OAS8HI8 RES(HAE)
3,300,000 x5 16,500
OsRIEHIS 50,0002 34 150
SHHR X2 41,389 40,440 949
Al 19,187
- 22,202
NS SHZA 38,374 37,090 1,284
Al 19,187
- 19,187
101 21A4H| 12,182 11,876 306
Al 6.091
- 6,091
04 JIZtN2Z2 XS 2=+ 12,182 11,876 306
OXIHSHEARI A (4HEE S ZF)
12,182,000& 12,182
Al 6,091
T 6.091
201 Ler=23| 26,192 25,214 978
Al 13,096
- 13,096
01 AtR2t2|HI 26,192 25,214 978
OXGSHZEAN T2 TAHR LEt=EH]
26,192,000& 26,192
Al 13,096
- 13,096
SAHAEZAL & HEXNES AHIA = 3,015 3,350 A335
201 er23| 3,015 3,350 A335




SA JIEZAE
My JHES 1Y Y I
el SHYS XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 3,015 3,350 N335
OSAHSE &2t 2,850,000 *90% 2,565
OSHd&d 29 500, 0002 «90% 450
AgAHztat =8 3,946 3,400 546
AR =& 3,946 3,400 546
201 fer=3| 1,826 1,940 A114
01 At 22|l 1,826 1,940 A114
Os2s HH 1,140,000 *90% 1,026
OFHIME WE A 800,000 800
203 HR=H| 720 760 A0
03 A=A RN 720 760 A0
O7thINE g 800,000 *90% 720
303 Zal= 1,400 700 700
01 o= 1,400 700 700
ORMINE =N 22X Al 700
SR 300,000 142 A 300
e 200,000 14 = A 200
ad 100,000 *20H 2 A 200
O ADHE B R+32F Alet 700
3R 300,000& *1 300
C R 200,000 *1 200
== 100,000& 2 200
dus4e oy 21,664 22,665 1,001
qEE 21,664 22,665 1,001
THEEEE 9,410 10,025 A615
201 2= 5,660 6,200 AB40
01 At22t2lt] 5,660 6,200 2540
OFoAY E22 5 M
2,900,000 *90% 2,610
OOHLIHIAE Ol 2,500, 0002 *90% 2,250
OSTlIHdEAEE 2S 800,000 800
203 =4l 1,350 1,425 AT5
03 A= PR FZ| 1,350 1,425 AT5
O7ged gf=d 1,500,000 *90% 1,350
303 Zais 2,400 2,400
01 Za= 2,400 2,400
Ol & H=dd S 24373 AY 2,400
ESES 300,000 x12H 23] 600
P 200,000 x32H *23] 1,200
& 100,000 38 »23] 600
g2 29 7,584 7,840 A256
201 2egh=3| 7,584 7,840 N256




2A:

IR A
ZH: SDFAC FoBE
o9l JUEE SR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 2,304 2,560 N256
Odtate| SHSE WA M
2,560, 0002 *90% 2,304
02 S3=gHl 5,280 5,280 0
Odut2e| AIAY 2224
440,000 123 5,280
NAHY - Wt E &4 4,670 4,800 2130
201 2= 1,170 2,300 AT1,130
01 At22telt] 1,170 2,300 21,130
OXAMEY - MOtHE 24
1,300,000 *90% 1,170
301 EtE N = 1,500 1,000 500
14 JIEt 2 a3 1,500 1,000 500
ORMIgtR =121 Al 2t 1,500,000& 1,500
303 Zal= 2,000 1,500 500
01 2= 2,000 1,500 500
OXAEE - MM R332 Ald
1,500,000 1,500
OXAHE - Mt Edst OIfIE
10,0002 +50& 500
ANLHE ELES 201,254 445,794 154,540
AN S A 291,254 445,74 A154,540
AN S A 291,254 445,74 154,540
201 2= 258,554 253,844 4,710
01 AtR2t2lt] 256,604 251,744 4,860
OZEAAX 3203 40,0005+ 12& 153,600
Ot =24 25,000,000 25,000
Oog=2HI AN 10,764
#HS 38,0002 1001~ 122 4,560
ek 517,000& 122 6,204
O&BX SEAAK 5,940,000 5,940
OMsRdE M2 & 715=
2,000, 0002 *90% 1,800
O&XNATY AIEE 5,900,000& 5,900
Odg Ze|0PmA MblA 0IEE
500,000 * 122 6,000
OXNSHMEZEHO0IN W AEEL2A0E 2=
825,000& «2J* 123 19,800
OEE2H= N&E S 5,000, 0002 *90% 4,500
OEAAX &2t IR
30,0002 58 122 1,800
OArdIQlstZ 2,100,000 *90% 1,890
OFEE2ARE 1,000,000 Q0% 900
OZSEIIAMN =Xl2cll
1,000,000 *90% 900




SA: JIEZ A
M FYss sPEs
Chelr FEAMX S HE EER=E)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
ONSs ZEI= 2435t 2]
10,900, 000 *90% 9,810
O AZEN + 2,000,000 2,000
OIIENE 2¢ 6,000,000& 6,000
02 222l 1,950 2,100 A150
OXSXHHl & 28& 600,000& 600
OXr& =l 1,500, 000& «90% 1,350
203 SR8 4,500 4,750 2250
03 AIF=AIH 2= 4,500 4,750 2250
O78E: g2 4,000,000 *90% 3,600
OZUJIX S &4t ZRFA
1,000,000 *90% 900
301 LEIEBE S 2,200 2,200
14 DBt 2 a3 2,200 2,200
OF2UEN E2HA 2L 2,200
NS OIIE EHOHA 24
200,000 %52 1,000
72X S FOHL 2o
100,000 * 122 1,200
308 XXM SOOI 26,000 31,000 A5,000
18 SV 2SS & AET AL 26,000 31,000 25,000
OFEEE &bl 26,000,000 26,000
AM™et IXME I+ 428,817 370,959 57,858
latE e HaEY, S84 235 184,817 127,959 56,858
MEHE =8 & olaEd 184,817 127,959 56,858
201 23] 26,190 28,100 21,910
01 AtR2telb] 26,190 28,100 21,910
O20I&tA I 5,700,000 *90% 5,130
OFZUlIAA 214 11,000,000 *90% 9,900
OFQAIHEHA I 2,000, 0002 *90% 1,800
OOl AL A=A Q144 6,600,000 *90% 5,940
OHEIXIGIAA QI 600, 000 *90% 540
O0lAEHAD|ZE QI 1,300,000 *90% 1,170
OJ13 € SIIXNLHEAE el
900, 000 *90% 810
OXLEXZ AMAE e QA
1,000,000 *90% 900
203 R =& 6,120 6,460 A340
03 AIMFAI AR =L 6,120 6,460 A340
Ol & HE2IYe =4
3,600,000 *90% 3,240
OliletEd & AsZUAR =X
3,200,000 *90% 2,880
301 E2E = 2,000 2,000 0




FA JIEZAY
S AWE NXNY Jlet+=
=2 At Al HEdY, S3Y 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 2,000 2,000 0
OXgeExs dluxas 2,000,000& 2,000
303 Z&a= 5,000 5,000
01 &= 5,000 5,000
OMIEEE I QIMEE 5,000,000& 5,000
308 AtXIEHMSOIE 84,758 43,369 41,389
183 S| 2SS B4 XA AIE 84,758 43,369 41,389
OSSANLMEAIAY 28 X |2
84,758,000 84,758
403 AXIEHHISAH=01& 60,749 43,030 17,719
02 SIS0t 2 S A A 60,749 43,030 17,719
OSBNLTHFAIAL HHZPAAY 75
60,749,000& 60,749
J2ASS=2E 3| 2 232,000 233,000 21,000
=Sd8l 28 232,000 233,000 1,000
201 fer= 3| 99,000 110,000 211,000
01 AtR2tc|HI 99,000 110,000 211,000
ORAMEZ g2t 37,000,000 *90% 33,300
ORKNARE S
63,000,000 *90% 56,700
ORKNRARE MBI otANO| =g
10,000, 0002 *90% 9,000
202 04| 113,000 113,000
01 2L AL 90,000 90,000
OZ 2 =F 0 90,000,000 90,000
03 =0 15,000 15,000 0
O=2=£&0H| 15,000,000 15,000
04 =NI2t01H] 8,000 8,000 0
O=HNaE&0tl 8,000,000& 8,000
405 KHoHF S| 20,000 10,000 10,000
01 ML ESFSHI 20,000 10,000 10,000
OXA =S F SHI 20,000,000 20,000
FUEFHUA 2 2t 12,000 10,000 2,000
FAUEFAHMA 29 12,000 10,000 2,000
201 et 3| 9,000 8,000 1,000
01 At22t2l] 9,000 8,000 1,000
O 23|
2,500,000 *90% 2,250
OFFouasn 29
3,500, 0002 *90% 3,150
O8I0l 2112 Hl&tA M=
4,000,000 *90% 3,600
301 22N 3,000 2,000 1,000
14 JIEt2 = 3,000 2,000 1,000




FA JIEZAY
T AFE GAWE J/87S
Rl ZOIZOI0IA 2% 23 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF2&E oatsrl S 42|
20,0002 *100E 12 2,000
Ooulatgtdl ) Ba= 1,000,000& 1,000
SAA FHEX K I ZEE 19,310 16,442 2,868
Hgdd & Mzl =8 19,310 16,442 2,868
gz 19,210 16,342 2,868
201 er23 | 2,800 3,000 A200
01 At2teltl 2,800 3,000 A200
O4ZIIB A £UBE
1,000, 0002 *90% 900
OZAE ZelH & ES JA2+
1,000,000 *90% 900
OFgu=s JA==g 1,000,000 1,000
203 HR=H] 1,800 2,000 A200
03 Al ZERIAREAY| 1,800 2,000 A200
OUMN U HD2UE A=
2,000, 0002 *90% 1,800
301 LEetE2 N = 1,000 1,000
4Bt 2a3 1,000 1,000
ORxcldl) 2a= 1,000,000 1,000
303 Zal= 1,100 1,100
01 Z&= 1,100 1,100
OZA+=HIS2E HE 50,0002 84 400
OXEH URSHMZ2E 2+ A AlY 700
B 300,000 * 12 Af 300
P 200,000« 12 A 200
& 100,000& x2=2 Al 200
403 AXIEHMSAH=0IH 12,510 9,242 3,268
02 SIS0t =S A AIEHI 12,510 9,242 3,268
OF A2 FX2tc] 12,510,000 12,510
SAA MESE AA 100 100
201 er23| 100 100
01 AtR2t2|HI 100 100
OSAA Mit=8xs S2HIE
2,000 +502 100
G0 S T 2t 1,353,275 2,292,000 A938,725
= 30,000
Al 15,000
- 1,308,275
Gl 1,353,275 2,292,000 A938,725
= 30,000
Al 15,000
- 1,308,275




2A:

X XH -
o=

JIEZ A
GlEI= &2l

=2l olldlgl (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Glla11]] 1,353,275 2,292,000 A938,725
= 30,000
Al 15,000
- 1,308,275
801 GdiHI8l 1,353,275 2,292,000 A938,725
= 30,000
Al 15,000
- 1,308,275
01 gtoiiblgl 1,065,425 2,000,000 A934,575
oodisl 1,065,425,000& 1,065,425
B LFERES 287,850 292,000 A4,1850
OURRE= 287,850,000 287,850
s 30,000
Al 15,000
- 242,850
BH2IZHIO1=2ZALA) 36,848 65,636 N\28,788
23018 ZA) 36,848 65,636 N\28,788
A PAE==1:] 36,848 65,636 N28,788
201 eer23y| 14,728 15,476 AT48
01 AtR2t2|HI 14,728 15,476 AT48
ORM2EII2+EH]
24,0002 x26H * 122 *x90f% 6,740
OJlzgf-daet
8,000 441 %262 » 12 »80% 7,988
202 04l 17,800 45,360 N27,560
01 =LHAHI 17,800 45,360 N27,560
OFMSUEENYI 17,800,000& 17,800
203 HR=AH] 4,320 4,800 480
M FANEHYERFAY 4,320 4,800 1480
OFANEgE =AY
400,000 * 12 »90% 4,320




